Survey on the
Rural well-being
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2016 SO{HQ A ZME N - 22 |7

T2 ShEERA

o HEQZA} (sampling error)

- BRI AP} Ofl Ut EES B 2251 M A7 | 43 O3
 ERZAIZ £3) 7ot S70 3y

A2t (precision)= LEE 2
- WO HRO, AHEZQR, Maf77t So| S H3

o HERQ2} (standard error: SE)

o MTYHEZRA} (relative standard error: RSE)

=
~

Var(0
-RSE(0) = #

0
- HUEZ QA= FH2| BEQAO| THejo Q10| UHoln s HERALE4 AT 2 E2| Al
o 95% 22|77t (95% confidence inferval)

é + 1.96 Var(é)

203}, ATHEZOR}, A277t 85 Var ()]

C A= c=
-B T°—||'75||£o %Oml'

o PE|LEF =7 ISAC| SAA Y=

B E2d, =4, 80| L2t gl 97 TE
- 0=, A= EAQ| YiiEERAl=
- NEE, S48 SA9 SUEERAE=3 ~ 10% E
SHHEZRAPE ALAH 2 SHS A[oH0F &

EAMOZ ]

L OO

~ 5% HE2 AR



8 | 55 - 2016 0O SR} ZAE A

11005 2HH AR
1170 ZAHAR] &8 £
SEi
=) n HIE(%) SE(%) RSE(%)
2% 3,952 100.0
7= 2,288 57.9 3.03 5.2
7 LA 1,664 42.1 3.03 7.2
TRt &Y
7= 0 =D SE() RSE(4
Bl 3,952 100.0
= 1,660 42.0 2.86 6.8
o4 2,292 58.0 2.86 4.9
EEARE
7 " =y SER RSE(4
S 3,952 100.0
30ty Ofst 1,080 27.3 0.11 0.4
40CH 714 18.0 0.05 0.3
50CH 801 20.3 0.02 0.1
60t 597 15.1 0.05 0.3
70CH OfAH 761 19.3 0.09 0.5
ST} 52
7= 0 =D SE%) RSE(4
Bl 3,933 100.0
Hat/ojze 391 9.9 0.69 7.0
2sotl 718 18.2 0.88 4.9
sty 455 11.6 0.94 8.2
nsstn 1,342 34.1 2.17 6.4
et 932 23.7 1.52 6.5
CHBHS) OfAt 9% 2.4 1.20 50.1




2016 012! SR AN - 22| 9

SEAHAY
= n H[Z(%) SE(%) RSE (%)
2L 3,893 100.0

SOUSARAL 985 25.3 1.72 6.9
22t 32 08 0.16 19.5

U7t Y HASARE 162 4. 0.95 23.1
JU=EIU 326 8.4 1.34 16.2

MH|A ZA2t 128 33 0.69 217

o SARAL 374 9.6 1.19 12,5

7SR/ 715 EAAS 71 1.8 0.68 375

Y|, 7|H 22/ 2 SARAL 118 3.0 1.19 39.5

Chele & SARAL 148 38 1.16 31.4
pad 5 0.1 0.12 117.0

F8/RA/7 L 1,544 39.6 2.3 5.9

SAAL AR
= n HIE(%) SE(%) RSE(%)
A 2,344 100.0

plelayl 1,254 535 2.94 55

484 1619 26.4 1.95 7.4

UAA 119 5.1 0.44 8.7

282 103 4.4 1.62 36.8
ISEYEXIG 249 10.6 1.83 17.3




10 | £5 - 2016 50! SAIE] ZAtE A

1120 ZARHA 71710) Lt EA

¥ 0%
T= n H[E(%) SE(%) RSE(%)
St 3,952 100.0
S0t 1,403 35.5 1.47 4.14
H|0{7} 2,549 64.5 1.47 2.28
Y R=hs
22 n HI£(%) SE(%) RSE(%)
S 3,952 100.0
19 693 17.5 1.68 9.6
24 1,098 278 1.50 5.4
3y 714 18.1 2.52 14.0
44 951 24.1 2.19 9.1
5% 339 8.6 1.27 14.8
60 |A 157 4.0 1.24 31.0
71 E 3
T= n H[E(%) SE(%) RSE(%)
S 3,937 100
10743 693 17.6 1.69 9.6
1A 905 23.0 1.04 45
2M[CH 2,020 51.3 2.51 4.9
3MICH 314 8.0 1.07 13.4
4A[CH 4 0.1 0.07 69.0




1130 2654 0}y 71781 98

OF 654 OAF 71719 Q2

2016 50121 =4

A} ZAPE TN - B2 | 11

2= n ER) SE RSE(%)
5] 3,952 100
oo s 380 232 3.09 13.3
OiF o 1,090 47.] 2.36 50
. =0p} 764 54.4 2.88 53
Hl=07 706 277 1.33 48
30cH o[t 50 47 1.94 412
Aotk 126 17.7 3.13 17.7
SEAf 50CH 135 16.8 2.50 14.9
E
60cH 402 67.4 343 5.1
70CH 0JAF 756 99.4 0.69 0.7
27| 221 249 2.32 9.3
29 9% 363 3.99 11.0
2= 126 40.4 4,00 9.9
24t 214 435 3.61 8.3
2/ He 243 39.1 8.60 220
2t 219 34.9 2.48 7.
PiC] 11 46.4 4.36 9.4
2t 217 49.] 4,08 8.3
pIES 23 35.0 3.54 10.]
1140, 290|2488% 43 42
2907|2485 43 0
EE] n HI2(%) SE(%) RSE(%)
A 3,952 100
23z 130 3.3 0.62 18.7
AR 64 16 0.34 21.4
EISh=s 3,758 95.1 0.70 0.7




12 | £5 - 2016 50! SAIE] ZAtE A

1150 30478 77 2 30 S5 5=

2oH 7179 92
= n HIE(%) SE RSE%)
s 455 1.5 0.01 0.1
o/ z 121 7.4 0.49 15.8
o o 334 14.4 0.98 115
s o w=o{7} 195 139 0.55 11.2
HI=0{7} 260 10.2 0.84 12.8
300} 0[5} 63 5.9 0.53 33.0
- 40t} 65 7.8 0.33 23.7
OOJH%* 50CH 104 11.4 0.43 185
60CH 117 17.5 0.41 15.7
70CH OfAk 148 185 0.33 9.1
27| 77 8.7 0.50 24.9
2l 31 11.8 0.23 28.3
29 43 8.8 0.30 20.3
Zut 61 19.6 0.20 185
pLie: e 58 9.3 0.54 35.7
At 97 15.4 0.57 23.6
2 40 16.7 0.07 65
Zut 42 9.5 0.30 20.7
pIES 7 10.4 0.06 30.3
Tzl 2
= n HIg(%) SE RSE(%)
57 505 100
p=ES 278 55.1 3.94 7.0
715120| HjoA} 97 19.1 3.43 16.1
=ELIPUE 50 9.9 1.74 19.6
AHHO] A} 1 0.1 0.01 78.9
224/ 2812 1 0.2 0.01 84.0
BQ 65 12.9 3.57 31.6
SHfol/ 1822t 12 2.4 1.78 80.9
7|EF 21012 1 0.3 0.01 79.0




2016 50{H0! =7

e ZAEIA - 5[ 13

HOi =
T n HIS (%) SE RSE(%)
24l 503 100
2|3{&0f 315 62.6 3.41 55
L |EHE S0 34 6.7 1.57 27.0
AZZoH 39 7.7 1.67 20.4
Y20l 49 9.8 1.80 18.2
020K 3 0.7 0.05 51.6
FARA 24 48 1.48 30.9
EERi 4 0.8 0.07 74.4
Yol 1 2.2 1.38 57.3
Ao 1 2.2 1.25 52.0
Aol 2 0.4 0.04 80.4
SE7|30f 6 1.2 0.12 59.3
QHHZION 0 0.0 0.05 107.1
HF, 2240} 1 0.2 0.05 102.9
H|= 22500 4 0.7 0.04 413
35012
= n HIE(%) SE RSE(%)
A 505 100
HlohE 477 94.5 1.22 1.3
e 28 55 1.32 22.7
EURSE]
= n HIS(%) SE RSE(%)
2% 498 100
=l 45 9.0 2.28 25.3
=1 73 14.7 2.80 19.0
= 117 23.6 3.72 15.7
=] 94 18.8 3.06 16.2
El 72 14.4 2.17 15.2
El 97 19.5 3.36 17.3




14 | ££ - 2016 50! SAIE] ZAtE A

1160. 22023 &7

220(22f

0

]

]

=] n H[S(%) SE RSE(%)
RL 121 3.1 1.01 326
ey = 56 3.4 1.73 72.2
= o 65 2.8 0.39 245
otz =07} 55 3.9 0.37 26.6
7 H50{7} 65 2.6 1.66 615
47 5 0.1 0.09 91.1
2 1 0.1 0.08 85.7
28 20 0.5 0.18 36.9
24 14 0.4 0.24 592
Pl e 48 0.1 0.08 81.9
At 1 0.3 0.11 38.4
A2 13 0.3 0.18 62.0
A 5 0.1 0.07 72.1
=S 4 0.1 0.05 53.9
7hete] 2
= n H[E(%) SE(%) RSE(%)
By 162 100.0
ymES 0 0.2 0.25 126.1
7}3120| B2 114 70.3 2.60 37
pUELIE=p1} 48 295 175 59.4




2016 50101 ZAAE} ZAETH - 52 | 15

2437t
= n HIE(%) SE RSE(%)
A 162 100

22 19 1.9 7.94 64.6
el 6 3.6 3.92 106.2
HES 115 71.1 16.05 34.6
B2 5 28 30.08 108.2

o 6 3.8 2.45 66.1

Z=Cior 9 5.8 4.61 94.1
i 1 0.7 0.12 1216
RAHF| AL 0 0.3 0.12 1175




16 | £5 - 2016 S0 SAIE] ZAtE A

1200 Akt
1211 74935 2 He3H)
FEH IR
= n H (%) SE RSE(%)
B4l 3,952 100.0
T el 2,164 54.8 2.69 49
OHItE 1,286 325 3.28 10.1
ol2jzel 119 3.0 0.57 19.1
CA|CH =2 202 5.1 1.37 26.8
7E 181 4.6 1.26 273
EH AR
= n HI (%) SE RSE(%)
2% 3,951 100.0
a7t 3,090 782 2.50 32
LMl 430 10.9 1.97 18.1
L =4l 181 46 1.03 223
ELNED] 86 22 0.50 25
DA 163 41 0.93 228




1212, 30| 734E

Zeio) Z124E

2016 50{%0! 27

e ZAEIA - FE

82|17

S n Br(d) SE RSE(%)
S 3,839 24.8 1.45 5.8
o =3 1,603 19.7 4.17 10.0
EE o 2236 28.4 420 72
e g1 07t 1,357 29.7 1.38 3.9
H=0{7} 2,482 22.1 1.42 2.2
30t} ofat 1,062 18.0 0.37 1.3
o 40K 689 18.9 0.21 1.2
OOJ% 50K 756 242 0.75 38
60tH 582 28.0 0.21 1.4
70CH OfAt 750 37.9 0.23 1.2
3 7423 0|gl 1,991 19.5 2.39 4.6
i Mz0| 1,848 30.5 2.41 50
27| 831 18.5 1.40 6.5
ZH 257 25.6 0.36 5.4
24 31 23.7 0.66 52
24t 486 25.6 0.67 53
AR R 607 27.6 4.28 27.1
e 623 26.0 0.84 52
He 232 33.2 0.35 5.7
A 426 25.7 0.60 5.4
A= 65 27.0 0.10 5.6
FEAO| ST
= n HIZ(%) SE RSE(%)
2% 3,839 100
1950 0K 04 295 7.7 2.23 26.7
1960 165 4.3 0.50 11.9
1970 288 7.5 0.74 10.0
19803 429 11.2 1.22 1.1
1990 993 25.9 2.43 95
20001ACH 1,340 34.9 4.39 12.7
2010 0|$ 330 8.6 2.07 24.4




18 | £5 - 2016 50! SAIE] ZAtE A

1213 Zeta|ofe

Ze42| of

7= n HI2(%) SE RSE(%)
=] 3,952 100.0
oLt 2,908 73.6 2.88 3.9
Hz 171 43 0.61 14.3
2z 116 2.9 0.67 233
2|0y 757 19.2 3.00 15.6
Zei43] A7
7= n HI2 (%) SE RSE(%)
=] 1,031 100
1980uCH of4 58 5.7 117 206
19904CH 175 16.9 2.48 14.7
2000:CH 271 263 6.02 229
2010~201244 264 25.6 443 17.3
2013~201514 180 175 2.32 13.3
20163 83 8.0 2.36 295




1214 3754 1 0fF

2016 50{H0! =7

VB ZMEIN - 25 [ 19

& 73| g 01
1= n H2(%) SE RSE(%)
S 3,952 100
O|=3HC} 1,751 44.3 2.60 5.9
& HZA|7} TSR0 |A[Tt
ol i&g;k ol |O||jz_§ﬂq 330 8.4 2.08 24.8
013218 2,082 52.7 2.34 43
& 74227} 18to|ct 1,870 473 2.27 48
AMIE 1,870 47.3 2.27 4.8
0| 2 57 |12H0|34Y 3)
7= n IA(E) SE RSE(%)
SHA 1,748 11.2 2.60 58
o = 961 8.1 1.94 7.8
=ty b 788 150 2.83 12.8
i o =047} 297 19.9 1.17 14.6
HJi=0{7} 1,452 9.4 2.31 63
30cH ofat 662 46 1.44 8.1
40rH 358 8.1 1.03 1.5
SEA HF 50CH 329 13.0 1.17 132
60cH 196 18.7 0.52 10.7
70CH OfAk 204 28.2 0.44 95
2 569 8.1 3.03 9.3
ZH 13 12.5 1.36 21.3
24 158 11.8 0.85 93
24 244 9.3 1.1 8.0
2| e 146 13.5 2.80 33.3
2t 172 15.7 2.86 29.2
3e 89 15.8 0.76 149
e 237 135 1.21 8.9
Az 21 7.1 0.22 18.7




20 | ££ - 2016 SOYQ SA/AEY AN

= n HIE(%) SE RSE(%)
St 3,851 100
1 0|t 127 3.3 0.87 265
1~34 ojgt 436 7.5 1.14 15.2
3~5 opot 183 48 0.75 15.6
5~10 03t 461 12.1 1.82 15.0
10~30 Ojt 348 92 1.12 12.2
30~50 Ojt 179 47 0.74 15.8
50 0|4t 2,218 58.4 2.57 4.4
0| & 7 1ZH'S ASA7F IZO[Z|TE |0 LIZICEZH CRA| O=3HCY Z)
2= n I(E) SE RSE(%)
S 324 9.3 2.07 24.8
2/ o = 159 62 1.76 43.0
e 165 12.3 1.18 278
ot o1 =047} 126 12.0 1.18 35.9
H|=0{7} 198 7.6 1.30 25.6
30CH Ofat 88 43 1.09 48.7
40rH 90 9.1 0.60 262
SEA HF 50CH 81 7.2 1.01 46.8
60cH 41 16.7 0.20 20.0
70CH OfAk 24 22.4 0.14 225
7| 49 56 12.70 83.6
2 23 10.8 3.90 54.1
24 16 9.2 2.76 56.3
24 28 10.8 5.50 63.9
b He 101 8.3 21.68 69.7
g 74 9.7 8.42 368
ze 3 10.7 0.44 55.0
A 30 14.8 3.96 43.0
A 0 35.0 0.11 106.2




2016 SO{HQ SAEE] ZME A - 22 | 21

O[3 S 727 |ZH'S 2ZA7F DB0|AI2t QR|0f| LIZITH} CIA| OIRULY &)

] n H2(%) SE RSE(%)
2L 324 100
14 0[5} 14 44 0.21 59.6
1~3 0jgt 19 58 0.24 284
3~5 ojgt 75 23.3 1.85 618
5~10 OJt 13 349 0.43 24.0
10~30% D[t 85 26.2 0.34 215
30~50 0|2t 16 48 0.10 255
5013 0|4 2 0.6 1.84 22
0] 21 ZE 13|
= n HI2(%) SE RSE(%)
S 2,002 100
SR AT Qle Al U 996 497 3.28 6.6
CHE /79| 5012 (B/T) 393 19.6 3.18 16.2
02— 302 [’ 1,389 69.3 3.74 5.4
ZATAE) 259 12.9 3.13 24.0
LHEAEEA, ZSA) 354 17.7 2.00 1.3
A - 502 (&) 613 30.6 373 12.2




22 | ££ - 2016 SOYQ SA/AE] AN

1215 g5 0jz08
&3 0|03
= n B (%) SE RSE(%)
2% 3,952 100.0
Uk 376 95 1.57 165
A o2t 361 9.1 1.65 18.1
et 3,215 81.4 2.23 2.7
0% 3/ A%
T2 n HIE(%) SE RSE(%)
A 369 100
S A9k Al U 228 619 8.67 14.0
SO CEEA/ZO S0(E 10 28 1.13 40.4
5012
L2 Azl s012(H 3 0.9 0.56 623
=02 — ZATA(E 79 21.4 9.41 449
LN A (EEA], ZCIA 43 1.8 5.27 452
=AML 0[S EENE, Q4S) 1 03 0.28 110.8
7 [EHoHL/mt, 021 5) 4 1.1 0.79 71.7
0| 3/ 0%
T2 n HI(%) SE RSE(%)
A 370 100
A AR 60 16.2 491 30.1
SERH AFR 142 38.4 5.23 13.6
TIE R A 7 1.9 1.39 73.1
THE AN O Hetz 1 2.9 1.13 38.4
HLA9| 0% 7 1.9 1.50 80.8
i 28 0] 102 275 6.10 22.1
SR AERrAE 20 37 10.1 3.03 30.3
7|t 4 1.0 1.08 1083




1216 YT 4 YN

237 e

o=

2016 50{H0! =7

|AIE} ZAP DA - 52 | 23

= n ol SE RSE(%)

A 3,875 138.2 4.42 32

= 1,594 152.5 7.10 17.3

EE & 2,281 128.3 6.99 11.9
i 0 =047} 1,382 126.4 4.64 13.0
Ht=0{7} 2,493 1448 6.77 10.5

30t ofat 1,066 168.6 7.66 27.8

40CH 699 199.7 16.79 93.1

SEA Y 50k 785 142.4 7.07 34.9
60tH 590 95.7 313 20.6

70CH OfAk 736 65.6 1.81 9.5

27| 836 168.9 14.49 67.2
Z 262 128.3 15.09 223.2

=X 31 1333 6.47 80.6

2\ 490 144.0 10.60 83.8

Pl i 611 95.9 8.16 51.8
ke 626 153.6 12.16 75.3
ze 237 1138 8.07 1320

Zd 436 134.1 7.71 68.5
A= 66 131.4 7.51 4409
R set]
1= n HI2(%) SE RSE(%)
2% 3,875 100

302t oot 130 3.3 0.70 212

30~502H4 0|2t 394 10.2 0.70 6.9
50~1002F% 0|2t 1,010 26.1 1.41 5.4
100~1502F ot 830 21.4 1.97 92
150~2002F% 2t 600 15.5 1.46 94
200~2502F2/ ot 468 12.1 1.49 12.3

2500+ OJAf 443 11.4 1.72 15.1




24 | B2 - 2016 500! EA|HE] ZAE A

A% o
= n HE(%) SE RSE(%)
2% 1,861 47.1

= 942 57.6 8.06 14.0

Sl & 919 39.7 5.40 13.6
ot 0 SOt 556 39.6 420 10.6

ceT Hs0{7} 1,305 51.2 2.30 45

30t ofat 790 732 4.10 56

40K 410 57.4 4.02 7.7

SHEA HE 50CH 359 44.8 5.78 12.9
60cH 225 3738 3.93 10.4

70CH OfA 77 10.1 1.20 11.9

47| 483 545 6.98 12.8

g 84 32.1 5.04 15.7

28 156 50.1 4.56 9.1

3 259 52.6 5.37 10.2

A4 Mg 366 58.8 15.39 26.3

e 282 448 34.94 7.8

ze 65 27.0 4.94 18.3

o 142 32.2 3.57 1.1

A= 24 36.6 6.11 16.7




2016 50{H0! =7

e ZAEIN - HE | 25

R
= n ol SE RSE(%)
2% 1,861 7.7 391 55
o ] 942 76.0 4.14 8.2
Sl o 919 67.3 5.85 1.9
e S0t 556 67.0 7.19 24.1
His 07t 1,305 73.7 3.80 5.4
30t ofat 790 72.6 7.73 18.2
40K 410 78.1 5.00 22.7
SHEA HE 50CH 359 74.6 7.07 36.7
60cH 225 61.1 6.24 51.6
70CH OfA 77 462 391 945
= 483 66.7 8.30 32.0
g 84 95.4 14.12 3128
35 156 70.9 7.55 90.1
3 259 76.7 7.34 52.7
Pl Mg 366 68.9 16.86 85.7
A 282 83.6 10.49 69.2
4= 65 498 5.39 154.3
=t 142 59.4 7.81 102.4
A= 24 75.5 9.72 753.7
ERIAE
= n HIZ(%) SE RSE(%)
2% 1,861 100
308 ot 348 18.7 3.85 20.6
30~502Hd 0|2t 361 19.4 4.48 23.1
50~1002F% 0|2t 534 28.7 4.85 16.9
100~1502H2) o[t 388 20.9 3.35 16.1
1502H Ol 230 12.4 1.59 12.8




26 | ££-2016 50{H2! SAIAE] AT

12717 %A 40f CHt =2t
S1AH A0 CHot =2t
T= n e ) SE RSE(%)
A 3,946 63.4 0.57 0.9
2/ o = 1,632 62.9 410 9.9
™ 2,313 63.8 4.09 7.0
ot 01 SO0t 1,400 61.9 1.47 4.2
H[t=0{7} 2,546 64.2 1.47 2.3
30cH ofat 1,080 68.1 0.11 0.4
40rH 711 63.6 0.06 0.4
Sl 50cH 801 632 0.02 0.1
il
60rH 595 61.8 0.06 0.4
70CH OfAt 759 58.0 0.10 05
3 7422 Ol 2,081 64.4 227 43
1Y 0 AZ0l 1,865 62.3 227 48
ssoEyoR | RS 376 69.4 1.57 16.5
S HlofsrR 3,570 62.8 2.22 2.7
47| 884 66.0 1.55 6.9
i 263 59.6 2.00 29.9
22 312 69.9 1.79 22.7
3 491 57.4 1.68 135
A% e 622 60.2 1.21 7.7
e 627 66.3 1.41 8.9
a5 239 59.3 1.59 26.1
er=] 441 65.0 1.53 13.7
A= 67 66.2 4.28 2518




S 201 Cifet
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2016 50{H0! =7

e ZAEIA - HE | 27

= n HIE(%) SE RSE(%)
2% 3,946 100
1 23 0.6 0.18 30.6
2 63 1.6 0.59 36.7
3 107 2.7 0.44 16.2
4 208 53 0.69 13.0
5 827 209 1.63 7.8
6 998 253 1.64 65
7 678 17.2 1.60 93
8 675 17.1 1.74 10.2
9 223 5.6 0.83 14.8
10 145 37 0.58 15.8
epiehd
3= n H2(%) SE RSE(%)
A 3,935 100
= 1,632 415 1.00 24
CHO A 131 3.3 0.45 13.7
1z 1,306 332 1.69 5.1
BARA orY 619 15.7 1.33 85
LAY 136 3.5 0.74 21.1
AlNE ek 49 1.2 0.29 24.0
o s 48 1.2 0.42 354
7|Et 16 0.4 0.19 473




28 | £ - 2016 SOIYQ SA/AE] AN

1218 S024e iz

SO DL ())
= n SE RSE(%)
Bl 3,952 0.75 1.5
1,636 1.29 3.1
S/H 0%
2,316 1.00 1.7
s o1 1,403 1.08 3.0
2,549 0.96 2.7
1,080 2.30 8.4
714 1.1 6.1
SHA 1 801 1.07 53
597 0.94 6.2
=o2ME 761 0.70 36
=L k5 54 L 376 2.75 289
(BeEs) 0[5 oAt 3576 068 08
887 1.32 48
263 2.64 39.4
312 2.52 319
3d 491 3.23 26.0
2 e 622 3.31 21.1
e 629 1.83 11.5
45 239 2.03 338
i1 441 1.12 10.0
A= 67 4.34 255.2




2016 S0{YQ A ZAE A - 22 | 29

%
i
OI
utor
2
I
H
S

T= n BA3) SE RSE(%)

2% 3,952 52.6 1.01 1.9

= 1,636 53.0 1.47 3.6

S/H 0%

o 2,316 52.3 1.35 2.3

ot 0 S0t 1,403 535 1.73 49

H| 07} 2,549 52.1 1.15 18

30cH ofat 1,080 52.0 3.34 12.2

40ty 714 51.1 2.05 13

SEA A 50Ck 801 52.3 1.45 7.1

60ch 597 527 1.07 7.1

NEST 70CH O 761 55.1 1.00 52
= gEsuyoz | O 376 538 412 434
(HETU=ZE) OJAt HIOBE 3,576 52.5 0.90 0.99
47| 887 48.0 1.97 8.8

P 263 452 4.14 61.8

3= 312 56.1 2.48 31.4

3d 491 55.2 3.57 28.8

A e 622 50.7 5.37 34.2

e 629 59.3 2.32 14.6

4= 239 46.3 2.23 37.2

i1 441 55.2 1.63 14.6

A= 67 66.7 4.46 262.4




30 | £5 - 2016 S0{HI SA/ZE] ZAEIA

SOIZME DE L (3)

T= n BE) SE RSE(%)

2L 3,952 50.9 0.68 13

/o = 1,636 51.0 1.36 3.3

o 2,316 50.8 0.87 15

ot 0 S0t 1,403 50.6 0.72 2.0

H| 07} 2,549 51.1 0.95 15

30cH ofat 1,080 497 1.73 63

40ty 714 50.7 1.06 59

SHA HE 50Ck 801 50.2 0.89 4.4

60ch 597 51.6 1.00 6.6

NEST 70CH O 761 52.9 0.67 35
= gEsuyoz | O 376 49.0 2.34 24.6
=g oW HlOf3HE 3,576 511 0.66 07
47| 887 49.7 1.36 6.1

P 263 45.8 1.64 24.4

3= 312 54.4 2.85 36.1

3d 491 52.7 3.10 25.0

A e 622 50.3 1.36 8.7

e 629 52.5 1.91 12.0

4= 239 47.2 2.00 333

i1 441 50.5 1.27 1.3

A= 67 63.9 4.27 251.2




2016 50{H0! =7

B ZMEIN - 25 | 31

SO TR (4)
= n IA(E) SE RSE(%)
S 3,952 44.4 0.94 2.1
o = 1,636 46.5 1.74 4.2
/A0 o 2,316 4209 1.25 2.1
ot o iom 1,403 40.0 1.24 35
S, H|oo17;+ 2,549 46.8 1.25 1.9
it 30CH O[5t 1,080 457 2.35 8.6
3‘3;;75 40} 714 446 1.74 9.6
SEA F 50CH 801 427 1.16 5.7
60LH 597 43.4 1.91 12.6
70CH OJAt 761 44.7 0.99 5.2
sps 502 | 0FoEE 376 40.7 5.33 56.1
OJA H|oEk 3,576 44.8 0.99 1.1
2% 3,952 417 1.03 2.5
o = 1,636 422 1.68 4.1
Ee o 2,316 a3 1.42 24
Sy SO 1,403 39.8 122 3.4
. e T HI=0{7} 2,549 42.7 1.38 2.1
FL ofrn 30CH O} 1,080 38.9 2.16 7.9
OE;Z = 40rH 714 421 1.88 10.4
SHA Y 50cH 801 41.0 1.40 6.9
60CH 597 427 1.65 10.9
70CH OJAt 761 45.1 1.33 6.9
Ske 5L 0= | OR QB 376 37.4 2.96 31.2
OJAF H|oBE 3,576 42.1 1.03 1.1
S 3,952 47.5 0.93 2.0
o = 1,636 47.9 1.45 3.5
S/ 0E o 2,316 47.1 1.20 2.0
ot o =047} 1,403 46.4 1.28 3.6
H|=07} 2,549 48.1 1.23 1.9
T £8, 3004 O[3 1,080 453 213 78
HEUs 5
i 40CH 714 48.1 1.62 9.0
SEA F 50CH 801 46.9 1.74 8.6
60CH 597 495 1.88 12.5
70CH Ol 761 48.9 1.15 6.0
sfe S0 | OFoEE 376 46.2 2.60 27.4
OJA H|oJ5I2 3,576 47.6 0.96 1.1




32 | $5-2016 010 ZAME) ZAtE A

SO TR (5)
= n IA(E) SE RSE(%)

S 3,952 62.7 1.31 2.1

° = 1,636 61.2 2.50 6.0

ST o 2,316 63.8 1.32 23

=047} 1,403 65.7 1.46 4.

g 07 HI=07} 2,549 61.1 1.94 3.0
a7 701 30H ofat 1,080 59.9 2.75 10.0
e er 40cH 714 64.0 1.90 10.5
SEA F 50CH 801 62.1 1.76 8.7
60LH 597 62.9 1.65 10.9

70CH OJAt 761 66.2 1.25 6.5
sks 5o | 0RO 376 61.9 3.78 39.8

OJA H|oEt2 3,576 62.8 1.34 15

S 3,952 465 1.16 2.5

° = 1,636 47.7 1.64 4.0

Ee o 2,316 457 1.44 25

o o iom 1,403 47.5 1.33 3.7

2517 H|0017;+ 2,549 46.0 1.39 2.2
i;%jf _ 30CH O} 1,080 47.2 2.98 10.9
%XT%% 01;3 40CH 714 453 1.73 9.6
SEA Y 50k 801 46.2 1.22 6.0

60CH 597 47.1 1.34 8.9

70CH OJAt 761 46.7 1.06 55

SkssE L0 | OIF oEE 376 46.7 2.82 2.7

OJAF H|oBE 3,576 465 1.10 12

S 3,952 66.2 1.21 1.8

° = 1,636 64.0 2.06 5.0

SH0E o 2,316 67.8 1.39 24

ot o1 =047} 1,403 67.5 1.50 42

ce T HIS0{7} 2,549 65.5 1.45 2.2

N 30H ofat 1,080 65.5 2.01 7.4
= 40CH 714 64.3 1.82 10.1
SEA F 50CH 801 65.3 1.66 8.2

60rH 597 67.4 1.50 9.9

70CH O 761 69.2 1.52 7.9
55U L02 | OF9EE 376 64.7 4.39 46.2

OJA H|oE2 3,576 66.4 1.09 12




2016 50101 SAAE) ZAHTA - 82 | 33

2 UZL(6

. T= n B (d) SE RSE(%)
S 3,952 66.8 1.13 1.7
om0t = 1,636 64.3 2.12 5.1
o 2,316 68.6 1.46 25
=07} 1,403 69.3 1.45 41

g 02
HIS017} 2,549 655 1.54 2.4
30cH ofat 1,080 65.0 1.80 6.6
40t 714 64.8 1.89 10.4
SEAE 50CK 801 66.4 1.53 7.5
60ch 597 67.9 1.65 10.9
70CH 04 761 710 1.77 838
sssupor | OROEE 376 655 497 523
OJA H|o[at2 3,576 67.0 1.06 1.2




34 | 2016"‘0'|°|°| EX'MEH JI‘M

1219 02 B70|3 OL2E

S0 B0 oot =L

= n ) SE RSE(%)
A 3,947 48.2 1.03 2.1
. s 1,631 50.5 1.48 3.6
EE o 2316 46.6 1.24 21
ot o =047} 1,402 49.9 1.75 49
Hs 07t 2,545 47 4 1.23 1.9
304 O[5} 1,076 47.1 2.70 9.9
40K 714 44.8 1.86 10.3
SEA Y 50k 801 48.7 0.97 4.8
60tH 595 50.0 1.07 7.1
70CH OfAk 761 51.2 1.14 5.9
27| 883 452 1.27 5.7
Z 263 475 1.70 25.5
2= 312 51.6 2.83 35.8
3 491 495 413 332
Pl He 622 51.0 351 22.3
A 629 49.1 3.38 21.2
ze 239 412 2.52 41.6
Zd 441 475 1.86 16.7
A= 67 64.7 4.30 253.3
SOiE H29| 50 Tt IS5
8 n HI2(%) SE RSE(%)
2% 3,947 100
Of OF% 71 1.8 0.39 21.8
D2 5l= T4 729 18.5 1.72 93
HE 2,151 545 2.83 52
O 52| Of= T 847 21.4 1.1 12.4
245 OIR32] 92 150 3.8 0.74 19.5




HZAI0) 29 B710J2 OfZi0] Tf AZE

2016 50{H0! =7

e ZAEIN - HE | 35

- n AR SE RSE(%)
A 3,951 46.9 0.98 2.1
= 1,635 48.0 1.52 3.7
Sl & 2,316 46.0 1.41 2.4
ot 012 Hgom 1,402 47.3 1.41 40
I5017+ 2,549 46.6 1.41 2.2
304 O[5} 1,080 45.1 2.04 75
40K 714 431 2.68 14.8
SHEA HE 50CH 801 483 1.1 55
60tH 596 49.0 1.31 8.7
70CH OfAF 761 49.7 1.44 7.5
47| 886 40.7 2.54 11.3
4 263 46.1 1.92 28.8
35 331 54.9 4.00 47.8
3 491 479 3.98 32.0
A% = 622 48.4 1.18 7.5
A 629 49.7 2.06 12.9
35 239 42.3 3.20 52.9
=t 441 47.0 2.55 22.9
A= 67 61.0 5.11 301.3
HFA| SO M8 H210|5 O3401| St DS
= n HIZ(%) SE RSE(%)
2% 3,951 100
Oj 2= 64 1.6 0.45 28.0
o= otz 769 195 1.37 7.2
HE 1,934 49.0 2.16 4.4
Z512 Y= 977 24.7 1.09 8.2
o] DS O3 207 5.2 1.25 24.1




36 | #5 - 2016 S0{HI SA/ZE] ZAEIA

1220 AR 32 M0 Tt 914

AR 712 A 0] ChSt Q12| &= — S01Ql0]| ChSt 71223 = 2|
T= n B (%) SE RSE(%)
B4l 3,952 100
Zangle 537 13.6 1.48 10.9
SR A UZ 714 18.1 1.97 10.9
mE] 2,701 63.3 2.09 33
ARIRRIY = A\ 018 R (XA 7 - SO1HRI0] CHot HEE 3= A1
T= n B (%) SE RSE(%)
A 3,952 100
08 433 449 11.4 1.37 12.0
HIZYS 3,503 88.6 1.33 1.5
ABIQRIT 155 A 0| Lot Q17| & - S0{R210] CHEt IZEAE A1/
=2 n HIE(%) SE RSE(%)
A 3,952 100
ZAngle 556 14.1 1.83 13.0
=4 U2 555 14.0 1.54 11.0
[nl=t 1,808 457 3.98 8.7
L= 1,034 262 3.30 12,6
AR 1= A\ 018 Fe (XA 7 - SO0 et A5 28z Al
T n HIZ(%) SE RSE(%)
24l 3,952 100
0|8 23 352 8.9 1.09 12.2
HIZS 3,600 91.1 1.09 1.2




AFSIRIY 715 | 0f| BSt Q1A| = — QAR 2 AA| =
=]

Hu=

2016 501010] S7/4E] ZAETN - 52 | 37

T= n B (%) SE RSE(%)
2L 3,952 100
LD US 424 10.7 1.49 13.9
SHEAHUS 621 15.7 1.83 1.6
mE] 2,907 73.5 1.84 25
ARIRRIY 7= H|e 012 ZBI(MA] 71 — Ao A =
T= n B (%) SE RSE(%)
A 3,952 100
08 g3 215 5.4 1.16 21.4
HIZYS 3,737 94.6 1.14 1.2
ARSJQRIT 125 H|0f| Chot QIR - 7| 215
e n HIE(%) SE RSE(%)
A 3,952 100
Zynus 1,532 38.8 3.49 9.0
S0E S 1,242 31.4 2.76 88
=) 1,178 298 2.80 9.4
ARRIRRIY 12 A& 08 R (A 71 - 712915
T n HIZ(%) SE RSE(%)
24l 3,952 100
08 43 826 20.9 1.21 58
HIZES 3,126 79.1 1.19 1.5




38 | 75 - 2016 S0{HI SA/ZE] 2AHIA

ABIQRAY 01| CHSE BHEE(1)

= n BA3) SE RSE(%)

2L 3,952 67.9 0.19 0.3

/o =] 1,636 68.0 0.19 0.5
o 2,316 67.9 0.30 0.5

ot 0 S0t 1,403 68.0 0.47 1.3
H[5017t 2,549 67.9 0.09 0.1

30cH ofat 1,080 67.9 0.14 0.5

40ch 714 68.2 0.26 1.4

SHA HE 50Ck 801 67.5 0.31 1.5
60ch 597 67.6 0.89 59

70CH OJA 761 68.4 0.38 2.0

B gssujor | OFORES 376 67.8 0.22 2.3
oWt HlOf3HE 3,576 67.9 0.22 0.2
47| 887 67.3 0.51 2.3

P 263 69.3 0.54 8.1

3= 312 68.3 0.61 7.7

3d 491 67.6 0.53 43

P HE 622 68.5 0.66 42
e 629 67.9 0.26 1.6

5 239 68.1 0.66 10.9

i1 441 67.9 0.26 2.3

HE 67 66.4 0.33 19.5




2016 S0{HQ S ZAE A - 22 | 39

2 n IA(E) SE RSE(%)
2%l 3,952 67.5 0.27 0.4
° = 1,636 67.3 0.50 1.2
SH0E o 2,316 67.6 0.50 0.9
ot o =047} 1,403 67.5 0.71 2.0
HI50{7} 2,549 67.5 0.08 0.1
0100000 CHst 30H ofat 1,080 67.1 0.39 1.4
HEERE AR 40cH 714 67.9 0.41 2.3
SEA ¢ 50CH 801 67.4 0.62 3.1
60LH 597 67.5 0.70 4.6
70CH OJAt 761 67.8 0.33 1.7
sps 502 | 0FoEE 376 65.3 1.85 19.4
OJA H|oJ5I2 3,579 67.7 0.34 0.4
A 3,952 67.9 0.21 0.3
° = 1,636 68.2 0.17 0.4
Ee o 2,316 67.8 0.35 0.6
ot g 07t 1,403 67.8 0.58 1.6
HI=0{7} 2,549 68.0 0.08 0.1
=0{R0000]| CHt 30t O[3} 1,080 68.0 0.04 0.1
HaEE Al 40cH 714 68.1 0.32 18
SEA Y 50k 801 66.6 0.84 41
60rH 597 68.5 0.66 4.4
70CH OJAt 761 68.6 0.30 1.6
SkssE L0 | OIF oEE 376 68.0 0.06 0.6
Ok H|OBZ 3,576 67.9 0.23 0.3
SH 3,952 63.5 0.22 0.3
° = 1,636 63.8 0.32 0.8
SH0E o 2,316 63.3 0.33 0.6
ot o =047} 1,403 63.5 0.61 1.7
HI50{7} 2,549 63.5 0.01 0.0
O] 304 O[3t 1,080 63.9 0.43 1.6
HANE 40K 714 63.7 0.39 2.2
SEA ¢Y 50CH 801 63.3 0.45 2.2
60K 597 32.9 1.07 7.1
70CH O 761 63.4 0.12 0.6
&5 54 L 0|2 (0] =Syl (1= 376 64.9 1.23 12.9
OJA H|o5t2 3,576 63.4 0.23 0.3




40 | 5 - 2016 S010! SAIME] ZAEIN

= n B (d) SE RSE(%)
S 3,952 72.8 0.40 05
/o =) 1,636 72.6 0.49 1.2
o 2,316 72.9 0.56 1.0
s ci =07} 1,403 73.1 0.81 2.3
Hl50{7t 2,549 72.6 0.32 05
- 30cH ofat 1,080 72.6 0.19 0.7
40rH 714 73.1 0.47 2.6
SEAE 50CK 801 72.8 0.44 2.2
60ch 597 71.4 1.48 98
70CH 04 761 739 1.20 62
5k5 54 L 0|2 Ol ogk=2 376 72.8 0.60 6.3
OJAF H|oJ5I2 3,576 72.8 0.43 0.5




=

1221 50i 27 oA 0ize

2016501291 22

|} ZAPE TN - B2 | 41

SO12 24| o240 T3t BHEE
= n Yo SE RSE(%)
A 3,950 479 0.83 1.7
= 1,636 47.8 1.07 2.6
=/H 048
o 2,314 47.9 1.07 1.8
S~ =047} 1,403 496 1.66 4.7
HJs0{7} 2,547 46.9 0.90 1.4
30tH Ofst 1,080 458 2.61 95
40rH 714 454 1.65 9.1
SHEA HE 50CH 799 479 1.06 5.2
60rH 597 48.7 1.0 7.3
70CH OfAF 761 52.4 1.01 52
27| 885 449 1.26 56
22 263 424 2.20 33.0
24 312 50.9 311 39.4
24t 491 46.4 2.15 17.3
A% M 622 49.6 3.25 20.6
e 629 51.2 2.55 16.0
Ae 239 455 1.84 30.4
ze 441 48.1 1.88 16.8
H2 67 65.6 4.52 266.5
SO12 22| 00| CHSH PR
- n HIE(%) SE RSE(%)
2% 3,950 100
O O 62 1.6 0.30 18.7
CiA OFR 673 17.0 1.39 8.2
HE 2,188 55.4 2.33 42
CiA 2012 920 23.3 2.21 95
0 S0 107 2.7 0.53 19.5




42 | £E - 2016 S010! SAIME] ZAEIN

JHERII0] 23 2] 040 Chet B2

=

- n AR SE RSE(%)
S 3,950 471 0.77 1.6
. s 1,635 46.3 1.26 3.0
Sl o 2315 47.6 1.20 21
ot o =047} 1,403 48.3 1.31 3.7
HIS017} 2,547 46.4 1.01 1.6
30t of5t 1,080 43.6 1.43 52
40K 714 44.2 1.78 9.9
SEA Y 50CH 801 47.8 1.05 52
60tH 597 49.4 0.95 6.3
70CH OfA 759 52.1 1.10 5.7
47| 887 45.6 1.84 8.2
g 263 423 2.42 36.4
35 312 52.7 3.73 47.2
3 490 425 2.34 18.9
A% = 622 473 0.97 6.2
e 629 50.1 2.27 143
ze 239 411 2.90 47.9
=t 441 496 1.84 165
A= 66 65.5 5.37 321.4
HFA| SO MHFA =] O 2401 Lot TS
= n HIZ(%) SE RSE(%)
2% 3,950 100
O OF% 46 1.2 0.26 21.7
Cha DEZ 629 159 1.46 9.2
HE 2,184 55.3 2.32 42
Cha 20 997 25.2 1.97 78
0 20 94 2.4 0.41 19.7




2016 50101 SAAE) ZAHTA - 82 | 43

1222 02 22| A ghdte

271 5 A Ch| SO1E 4| G71 EHolof| Tt Q14

= n ) SE RSE(%)
2% 3,950 61.7 0.95 1.5
o ] 1,634 61.0 1.86 45
EE o 2316 62.2 1.22 21
i 0 =047} 1,402 62.8 0.95 2.7
Hs 07t 2,548 61.2 1.23 1.9
30cH Ofat 1,080 59.9 1.46 53
40K 714 61.9 1.40 78
SEA Y 50k 801 60.7 1.80 8.9
60tH 596 61.8 1.76 1.7
70CH OfAk 760 65.3 1.14 5.9
27| 885 62.1 2.23 9.9
4 263 66.3 2.96 445
28 312 62.6 2.1 26.6
3 491 61.3 2.19 17.6
Pl Mg 622 54.8 2.83 18.0
ke 629 65.8 1.49 9.4
ze 239 61.4 1.44 23.8
Zd 441 61.4 1.65 14.8
A= 67 674 457 269.6

D71 514 2 CH| 5012 S22 Of24 #4510 Chot 914

= n HIZ(%) SE RSE(%)
3 3,950 100
S 2012 129 33 0.55 16.9
ZO0rd 1,738 440 3.26 7.4
HE 1,969 498 3.34 6.7
Lfth2 90 23 0.56 242
4 LiR! 25 0.6 0.48 79.8
ooy 2 0.1 0.06 64.4




44 | £E - 2016 S010! SAIME] ZAEIN

A 1E A

CH] 4501 23] 0124 130} Cht O

Al
al

= n AR SE RSE(%)
S 3,946 54.8 0.72 1.3
= 1,630 54.2 0.88 2.1
Sl & 2,316 55.3 1.10 1.9
ot o Hh,;-o17f 1,402 55.3 1.01 2.8
I5017+ 2,544 54.6 0.93 14
30CH Ofst 1,075 53.9 1.43 5.2
40K 714 53.7 0.84 4.7
SEA Y 50CH 801 54.9 1.30 6.4
60tH 596 55.1 1.35 8.9
70CH OfA 760 57.0 0.76 40
27| 881 55.4 1.70 7.6
g 263 56.2 1.52 22.8
35 312 56.0 1.51 19.1
3 491 52.1 1.29 10.4
Pl HE 622 50.7 0.87 55
e 629 57.3 3.07 19.3
4= 239 56.4 1.02 16.9
=t 441 55.4 0.73 6.5
A= 67 62.5 4.09 2413
A 11 A THH| 5012 =2] 0374 Hof0f] TG 1A
= n HIZ(%) SE RSE(%)
24l 3,946 100
0% 20k 38 1.0 0.29 32.6
Z0p2 ™ 831 21.0 2.56 12.2
HE 2,959 74.9 2.77 3.7
L2l TH 92 2.3 0.15 25.0
OH L2 25 0.6 0.09 44 4
23 6 0.2 0.17 82.7




2016 501210] SH8E) ZNETH - 55 | 45

1300> 229z

1317 =74 O[S

2 080t o=7|
T n HIZ(%) SE RSE(%)
A 3,952 100
=P RIEEN 53 1.3 0.2 20.1
BAAR|A) 120 30 0.48 15.9
Q) 3,298 83.5 1.50 1.8
S (O) A 54 1.4 0.37 26.4
SEEH 426 108 1.35 12.5

g7 0183

T= n HIE(%) SE RSE(%)
B4l 3,944 100
15| 0|2 1,713 434 2.30 53
21-28| 1,363 34.6 1.93 56
2 3-43] 498 12,6 1.48 11.8
2 53] 014 370 9.4 0.81 8.7

Q|27 |2 OISA| 2 080k W&

T= n B (%) SE RSE(%)
A 3,946 100
Z0IA 629 15.9 1.57 9.9
2uE 1,155 29.3 1.58 54
e 2,106 534 1.97 3.7
7|Et 56 1.4 0.26 17.3




46 | 5E - 2016 S0{0! SAIME] ZAEIN

O|Z 7|2 O|ZA| HE AQAZH

= n S SE RSE(%)
2% 3,879 23.6 1.23 52
. g 1,616 20.4 2.25 5.4
Sl o 2263 258 1.18 20
e S07t 1,365 28.0 1.40 40
His 07t 2,514 21.2 1.49 2.3
30cH Ofat 1,041 17.7 2.97 1.1
40K 702 20.2 1.90 10.5
SHEA HE 50CH 790 23.7 1.32 6.5
60tH 590 27.9 1.53 10.1
70CH OfA 756 312 1.27 65
27| 854 20.0 1.24 56
4 258 34.7 6.00 90.2
Ea 308 20.3 1.33 16.8
3 491 26.8 3.02 23.9
A% = 616 22.0 7.22 455
e 616 19.6 1.90 12.0
ze 235 27.3 2.92 48.2
=t 436 27.7 2.51 22.3
A= 67 275 2.75 159.2
O|E7|2 O|5A| HE AQAIZH
= n HIZ(%) SE RSE(%)
2% 3,879 100
10£ 0|2t 523 135 2.77 205
108205 D[t 1,368 35.3 2.43 6.9
202305 0|2t 796 205 2.50 12.2
30E~405 0|2t 541 139 1.04 7.5
402~505 0|2t 241 62 1.32 21.3
502~ 1A)Zt Ot 74 1.9 0.43 224
TA[Zt Ol 336 8.7 1.06 122




1312 S89=AIE O[22k

DIo|RAIM 0|2 ZE

o oo

2016 50{%0! 27

e ZAEIA - HE | 47

= n HIS(%) SE RSE(%)
2%l 1,795 454
5 = 603 36.9 4.35 11.8
i o 1,193 515 484 9.4
o g2 S0t 765 545 4.25 7.8
HISO017} 1,030 40.4 2.95 7.3
30cH ofat 345 32.0 8.61 26.9
40K 243 34.1 3.61 10.6
et o 50CH 341 425 5.31 12.5
60tH 357 59.9 461 7.7
70CH OfAk 509 67.0 2.61 3.9
27 307 34.6 5.33 15.4
4 114 431 10.73 24.9
E 180 57.7 5.83 10.1
EX=1 294 59.7 6.33 10.6
A% i 293 47.0 5.50 11.7
e 245 38.9 4.55 11.7
a5 84 34.9 6.11 17.5
ror=t 257 58.3 5.77 9.9
pES 23 344 6.47 18.8
S52=AE 018 AR
= n HIE(%) SE RSE(%)
2% 1,786 100
SEEZ0|01M 77 43 1.24 28.9
TSR 22 2loiA 347 19.4 1.80 9.3
HEAUZ oM 205 115 1.56 13.6
7|Et HSR|2E RloHA 489 274 2.71 9.9
SL|AEE PfoliA 82 4.6 1.64 35.7
OHE 522 29.2 2.63 9.0
7|E+ 64 36 1.16 32.3




48 | £E - 2016 S010! SAIME] ZAEIN

S&2ARAE 018 TEL

=

= n BE) SE RSE(%)
S 1,787 69.0 1.50 2.2
5 = 599 68.9 1.95 58
S o 1,188 69.1 2.06 31
o 2 S0t 761 70.5 2.14 5.0
H 5017t 1,026 67.9 1.57 2.7
30cH ofat 345 665 5.64 29.2
40K 241 66.3 2.52 18.7
SEA Y 50Ck 341 67.8 2.51 13.2
60tH 356 69.3 1.71 8.6
70CH OfA 504 72.7 1.07 3.8
47 304 614 2.63 155
4 112 69.0 3.39 54.1
E 180 75.4 2.06 20.5
EX=1 294 70.8 1.80 10.9
| e 293 65.7 8.27 50.4
e 242 69.7 3.21 23.7
a5 83 73.0 3.27 70.4
ror=t 256 72.5 2.03 14.2
ES 23 789 3.77 292.9
S3ARAE 08 PR
- n HIE(%) SE RSE(%)
2% 1,787 100
Of< B 265 148 1.66 11.2
e 928 51.9 3.37 6.5
HE 511 28.6 2.37 8.3
Ot= ofR| Oh= M 68 3.8 2.16 57.1
o] PHESHA| o2 16 0.9 0.42 46.2




EE9ZA[E BIOIE AfR

2016 =0f

olo] E7

Hu=

|AIE} ZAP DA - B2 | 49

TE n HIE(%) SE RSE (%)
2L 2,067 100

REY =G 395 19.1 2.90 15.2
Al20] 2 E|01A 107 52 1.39 26.8
=0/ GloA 27 1.3 0.50 38.8
ST} QI0IA 33 1.6 0.59 36.6

H=Z40] HOTAAM 960 46.4 4.41 95
0otz HRO0[ UM 87 42 1.03 24.6
S % LA 193 9.4 5.59 59.5
7|t 265 12.8 1.60 12.5




50 | £5 - 2016 S0{HI SA/ZE) ZAEIA

1313 324 O[S4k
SEH 018 4%
= n HIE(%) SE RSE (%)
2% 742 18.8

= 327 20.0 2.68 13.4

EE & 415 17.9 2.67 14.9

ot o =07} 277 19.7 1.85 9.4

HI= 017} 465 182 1.93 10.6

30t ofat 319 29.6 373 12,6

40K 135 19.0 3.23 17.0

Scht oy 50CH 115 14.4 2.29 15.9

60tH 74 12.4 2.93 23.6

70CH OJAf 98 12.8 1.24 9.7

27| 138 15.5 3.43 22.1

ZH 33 12.7 5.64 44 4

22 76 24.3 2.84 1.7

it 129 26.3 3.08 1.7

A HE 97 15.7 2.87 18.3

At 144 22.8 3.19 14.0

ze 18 7.5 3.03 40.4

4 98 222 3.37 152

A= 9 132 4.04 30.6

SEA AzAH|A 018 #0!
= n HI2(%) SE RSE(%)
2% 741 100

TEAD 35 4.7 1.46 31.4

=2I0f OFZALT 27 3.7 0.84 22.6

=0ERE 1 0.2 0.08 84.0
SEAYLUAE ) 678 91.5 1.65 1.8




S ArAH|A 0189 Y

2016 50{H0! =7

|AIE} ZAPHTA - B2 | 51

= n H2(%) SE RSE(%)
2% 742 100
10£ O[Lf 201 27.1 6.80 25.1
202 O|LH 235 31.6 3.16 10.0
302 OILf 177 238 4.06 17.0
1A[ZFO|LH 129 17.5 5.85 334
SEH QS AHIA0 LS DHEEE
= n R SE RSE(%)
2% 733 53.8 2.38 44
5 = 325 469 6.43 145
S o 407 59.3 377 6.8
ot o =0{7} 277 49.7 4.78 12.7
H 5017t 456 56.3 3.09 50
30cH ofst 312 429 4.38 10.3
40rH 134 55.6 4.30 235
o7} ol 50tH 115 62.0 3.28 20.9
60cH 74 62.8 3.85 38.1
70CH 04 97 69.8 1.96 14.8
27 137 487 3.36 18.0
ZH 33 58.5 11.26 250.1
28 76 65.2 3.90 37.6
24t 129 618 6.19 352
e He 97 28.8 9.40 71.0
e 136 57.7 7.19 388
4e 18 56.7 327 133.2
= 98 56.9 501 375
A= 9 75.0 4.05 329.9




52 | $%-2016 010 ZAME) ZAtE A

= n B (%) SE RSE(%)
2L 733 100
O 2 45 6.2 1.22 19.7
Z o= 281 38.4 4.03 10.5
HE 214 293 3.96 135
OHZ 312 Of= M 123 16.7 6.88 412
5] DHEESIA| 42 69 9.4 573 61.0
S OlSAlS| wEH
T= n B (%) SE RSE(%)
A 742 100
=z 186 25.1 2.91 1.6
HOIB 2k 492 66.3 3.12 4.7
EA| 52 7.1 0.17 2.4
Z0IA 8 1.0 0.95 95.5
7|Et 4 0.5 0.24 48.8




TEAL QZAJH| A0 Lot TEE

2016 50{H0! =7

e ZAEIA - £E | 53

7= n AR SE RSE(%)
A 186 77.8 2.65 3.4
= 63 73.8 1.96 58
S /H e Ei
=T o 124 79.8 3.70 56
017t 78 79.6 5.26 12.5
s 02
HISO07} 108 76.5 2.40 4.1
30CH O} 31 75.5 1.98 11.9
40y 31 70.1 4.57 27.4
SEA Y 50cH 33 69.1 5.30 29.9
60CH 38 88.5 7.14 35.0
70CH OfAk 54 81.4 2.03 7.0
&7 40 81.2 10.91 50.7
PASE 13 76.7 7.28 104.2
5 23 76.3 2.99 24.2
g 32 71.8 2.99 17.4
pe: M 17 71.7 8.07 88.3
Mg 17 81.0 6.34 69.4
a5 10 73.6 2.38 443
&g 30 82.0 4.79 29.7
= 3 100.0 0 0
FEAL Q| ZAH| A0 Cfot DT
= n HIZ(%) SE RSE(%)
A 186 100
0i% 2 55 29.3 7.65 26.1
ORZ Sl=H 103 55.0 6.99 12.7
HE 26 13.8 431 31.2
UZ 52| Y= 2 1.3 0.79 60.5
245 OIR32] 92 ] 05 0.38 75.0




54 | £2 2016 50{201 SAIME) ZAE N

1314 2 22/ 02tz

28 A2A| Of2E

TE n HIE(%) SE RSE(%)

2L 3,952 100
A|=H|7HREEC 1,282 32.4 2.20 68
OlzAH|AS| Zo| Lt 347 8.8 1.32 15.0
A3let o7 [2g 27|17} ofCt 652 16.5 211 12.8
0|27 |2477FA| 0150 OfECt 466 11.8 1.88 15.9
SIS S AMZO| Gict 234 59 0.83 14.0
SE5H0{2Z0| GiCt 971 24.6 3.25 13.2




e ZAEIN - HE | 55

HIE(%)

RSE%)

3,952

100

>z ox
oQk
o
5]

I
re
=

1=

2
=]

1=

r

=

ol

T

ro

689
359
197
152
355
173
399
253
195
26

99

9.1
5.0
3.8
9.0
4.4

6.4
4.9
0.7
25
0.5

8.3

12.3
1.6
14.6
9.4

17.6
13.3
13.9
13.6
24.1

14.7
26.9

1,035

26.2

9.2




56 | #5 - 2016 S0{HI SA/ZE) 2AEIA

1316 220l et Bi2E

O|ZQ1240j| CHot B
= n B () SE RSE(%)
A 3,946 51.9 0.99 1.9
= 1,635 50.9 1.86 45
EE H 2,310 52.6 118 2.0
ot o =07} 1,401 52.2 1.23 35
HI=0{7} 2,545 51.7 1.26 2.0
30t ofat 1,080 49.7 2.27 8.3
40K 711 49.7 1.88 10.4
Set o1y 50k 799 52.3 1.34 6.6
60CH 597 53.8 0.95 6.3
70CH OJAf 759 55.3 1.26 6.6
47 881 457 1.83 8.2
ZH 263 48.2 3.74 56.1
22 3N 55.7 3.83 48.6
3 491 56.1 5.16 415
A% H= 622 48.8 2.74 17.4
At 629 57.6 1.30 8.2
3 239 46.0 3.62 59.8
Zd 441 56.0 2.43 21.7
A= 67 69.9 5.02 295.7
O|ZQ1240)| CHor RIS
= n HI2(%) SE RSE(%)
2% 3,946 100
O 2= 83 2.1 0.51 24.5
D2 5l= T4 1,057 26.8 1.82 6.8
HE 2,012 51.0 2.35 4.6
ORZ 52| Of= T 665 16.8 2.27 13.5
5] DIR512| or2 128 3.3 0.72 22.6




2016 50{H0! =7

e ZAEIA - FE | 57

1317 Y=AlE 424 Ee
OIZANY 0| ChSH DR
= n ) SE RSE(%)
A 3,950 46.4 0.96 2.1
= 1,635 47.3 1.50 3.6
Sl & 2,315 458 1.28 2.2
ot o =0{7} 1,402 453 1.37 3.9
HIS017} 2,548 471 1.21 1.9
30cH Ofat 1,080 451 2.11 7.7
40K 714 47.2 1.86 10.3
SHEA HE 50k 801 47.3 1.38 6.8
60tH 597 475 1.34 8.9
70CH 04 759 458 1.24 6.5
27| 886 435 1.79 8.0
g 263 36.4 3.58 538
35 31 57.2 3.05 38.7
3 491 43.6 3.39 27.3
A% = 622 46.3 2.77 17.6
A 629 535 2.19 13.8
ze 239 35.7 4.40 72.7
4 441 48.9 3.50 31.4
A= 67 52.4 5.63 3319
Ol Al M0 Chot BHEe
= n HIZ(%) SE RSE(%)
2% 3,950 100
Of< B 117 3.0 0.54 18.0
Zof=H 789 20.0 1.40 7.0
HE 1,730 43.8 2.32 5.3
% OfA| 4= 1,041 26.4 2.02 7.7
o] DS O3 273 6.9 0.95 13.7




58 | 75 - 2016 S0{HQI SA/ 2] ZAEIA

1400> ARSI 3 SA|MH[A

1477 2UABES T1ULE

T n HIZ(%) SE RSE(%)
A 3,950 100
710l 3,172 80.3 1.37 1.7
H7IE 778 19.7 1.35 6.9
TUHLEE 7Y R
T n HIZ(%) SE RSE(%)
A 3,172 100
2AZ71UA 1,837 57.9 2.21 3.81
2/ei71202t 1,335 42.1 2.22 524
TUHLEH AP A 5 EF
T n HIZ(%) SE RSE(%)
A 771 100
9Z20(18) 138 17.9 2.91 16.4
9250123 91 11.8 4.90 41.6
ALfH BL7IECR SEEA UB 543 70.4 5.35 7.6
TUALEY BYE fH A
T n HIZ(%) SE RSE(%)
A 2,870 100
0 = 527 18.3 2.34 12.8
SEt=H 1,050 36.6 2.27 6.2
HE 845 294 3.68 12,5
R = H 371 12.9 3.39 263
ol FEER| = 77 2.7 0.57 21.2




1412 4%57

[RI22E

2016 0{%2! 24

e ZAEIA - FE | 59

= n HI(%) SE RSE(%)
A 3,948 100
7! 2,549 64.5 2.32 3.6
0j7}el 1,400 355 2.3] 6.5
SRAZ 71 o4
= n HI(%) SE RSE(%)
& 3,949 100
71 243 6.2 1.32 21.4
07Ky 3,705 93.8 1.3 1.4
AR 71 o2
7= n HI2(%) SE RSE(%)
A 3,948 100
71 10 0.2 0.08 41.4
oY 3,939 99.8 0.09 0.1
OIE 71 o
= n HIZ(%) SE RSE(%)
A 3,948 100
710! 47 12 0.46 385
0719 3,901 98.8 0.40 0.4
IUUAF 57 O
= n HIS(%) SE RSE(%)
A 2,752 100
> 728 26.4 1.45 55
g 2,028 73.6 1.47 2.0




T n HiZ(%) SE RSE(%)
2L 2,757 100
] 51 1.8 0.36 20.1
Hlg 2,706 98.2 0.39 04
Aidiz a5 042
T= n B (%) SE RSE(%)
A 2,757 100
] 4 0.1 0.07 65.2
Hig 2,753 99.9 0.10 0.1
RIoE 5 0%
=2 n HI(%) SE RSE(%)
A 2,757 100
> 17 0.6 0.17 28.7
Hl>a 2,739 99.4 0.20 02
A0S Helz 2H YL
7= n HIZ(%) SE RSE(%)
24l 1,953 100
0 FEE 282 14.4 2.53 17.6
FEE=H 712 36.4 3.18 8.7
HE 656 336 3.49 10.4
SR 0= H 256 13.1 1.73 132
of FHER| U= 47 2.4 0.87 36.1




olo] k|

Hu=

e ZAEIA - FE | 61

SAUZ 071 0%
T= n B (%) SE RSE(%)
gl 1,162 100
HEE Z2tM 183 158 2.39 15.1
BAIA (210] QIO1A 755 65.0 2.47 3.8
=20 £20[ 2F 2 A Z0pA 202 17.4 2.14 12.3
7|E 21 1.8 0.80 442




62 | $5 - 2016 01O ZAME} ZAtE A

1473 7EEE 7108

QIZi0l2 B 7194 o1
= n HIE(%) SE RSE(%)
A 3,952 100
71 2,358 59.7 2.44 4.1
071 1,594 40.3 2.42 6.0
AMAHES 71 o E
= n HIE(%) SE RSE(%)
& 3,952 100
712 1,162 29 4 2.18 7.4
07} 2,790 70.6 2.19 3.1
TEEAH TR
7= n HI2(%) SE RSE(%)
A 3,952 100
Ll 1,212 30.7 2.11 6.9
07k 2,740 69.3 2.15 3.1
FEIGIE 7] R
= n HIZ(%) SE RSE(%)
A 3,952 100
71 111 2.8 0.74 26.4
0719 3,841 97.2 0.68 0.7
WIS 71 045
= n HIE(%) SE RSE(%)
A 3,952 100
71 742 18.8 1.67 8.9
0719l 3,210 81.2 1.71 2.1




2016 501201 ZAAE) ZAHTA - 2 | 63

=2 n H|= (%) SE RSE(%)
&t 1,403 100
7¥ 233 16.6 322 19.4
oj7¢ 171 83.4 325 3.9
57 A=Y 7Y Of
7= n H|= (%) SE RSE(%)
=2y 1,403 100
71 164 1.7 3.19 27.3
071 1,239 88.3 3.17 3.6
SABAPHE 7Y KR
7= n H|E (%) SE RSE(%)
S| 1,403 100
712 213 15.2 3.48 22.9
071 1,190 84.8 3.48 4.1
o3 71 of
7= n HIE(%) SE RSE(%)
3 1,403 100
71 29 2.1 0.60 28.8
071 1,374 97.9 0.59 0.6




64 | £Z - 2016 01O ZAME) ZAtE A

= n HIE(%) SE RSE(%)
R 3,952 100
0f ok 263 6.6 1.62 24.5
CiA DR 1,296 328 1.97 6.6
HE 1,446 36.6 2.27 6.2
CHA 20k 725 18.4 1.09 5.9
e 012 222 5.6 0.54 9.7
1475, 2011 Hlzzet AHCHO| 27}l
=017} b3t OfRiCHo] 24 b2
= n HIE(%) SE RSE(%)
R 3,952 100
e 22 157 40 1.52 38.1
5 1,019 25.8 1.86 7.2
HE 1,961 49.6 2.28 4.6
L& 661 16.7 1.05 6.3
O L 153 3.9 0.51 13.1




2016 SOHOI JA|LEf ZAE N - 5 | 65
1416, 1420 o] 291 22480
1142 ChE| =01 o
= n HIE(%) SE RSE(%)
3 3,952 100
e 22 80 20 0.59 29.6
£5 607 15.4 220 14.3
HE 2,318 58.7 2.8 4.8
Lpe 707 17.9 1.18 6.6
Of Ljee 240 6.1 0.80 13.2
1417 21 28 oln 42 &
L e
= n HIE(%) SE RSE(%)
= 3,952 100
e 2L 241 6.1 0.9 15.1
5 567 14.3 0.83 58
BE 1,119 28.3 2.04 7.2
Lpe 1,312 33.2 1.83 55
Oh Lje 714 18.1 226 12.5




66 | 75 - 2016 S0{HI SA/ZE) ZAEIA

1418 37159 U ae 5k

= n B (%) SE RSE(%)
3 3,129 100
R E2 1M 35 0.91 26.0
z2 1,131 36.1 2.20 6.1
HE 1,272 407 2.12 52
LIE 435 13.9 1.35 9.7
04 LI 181 58 0.61 10.6




1419 3294

LH= H20| TOSICH

[

olo] E7

Hu=

e ZAEIA - FE | 67

T= n HI(%) SE RSE(%)
B4l 3,952 100
0§ 13c 213 54 1.61 29.9
Jzot 1,393 352 2.43 6.9
HE 1,663 421 2.90 6.9
I3z ot 579 14.7 1.12 7.6
0§ 13| Ot 104 2.6 0.61 235
L= OFF O3 10| 242 W7} QlCt
T= n HIZ (%) SE RSE(%)
2% 3,952 100
0§ 23t 54 1.4 0.26 18.6
Jzot 452 11.4 1.33 1.7
HE 868 22.0 2.23 10.2
it 1,809 458 2.47 54
O 132 94Tt 770 19.5 2.67 13.7
L= 0| ©10| SiLi= 2o| UCtH
=2 n HIE(%) SE RSE(%)
SHA 3,952 100
0§ 13t 42 1.1 0.24 23.9
ot 387 938 0.93 95
HE 1,057 268 2.55 95
O] o4t 1,739 44.0 2.28 5.2
0§ 23| Qict 723 18.3 2.67 14.6
T 4 0.1 0.69 69.1




68 | 75 - 2016 S0{HI SA/ZE] AN

2
T= n B (%) SE RSE(%)
gl 3,952 100
Oj$ 13c 246 62 1.92 31.0
Jzot 1,051 26.6 2.00 7.5
HE 1,729 438 2.23 51
J37| ot 792 20.0 1.80 9.1
O A 4Tt 133 3.4 0.49 13.9
2t 1 0.0 0.94 94.4
20| F=EEY W7} UCH
= n H2(%) SE RSE(%)
3 3,952 100
Oj J3c 37 0.9 0.22 21.6
i} 532 135 1.77 132
HE 1,074 272 2.42 8.9
IR 94Tt 1,688 427 2.65 6.2
O 17| Ot 620 15.7 2.59 16.5
fent 1 0.0 0.80 79.8
S 2E 20| Uf SECh= =1 Qlct
=2 n H2(%) SE RSE(%)
SHA 3,952 100
Oj Jc 45 1.1 0.28 253
ot 549 13.9 2.02 145
HE 1,887 478 2.20 46
127 ot 1,231 312 2.65 8.5
0§ 17| et 240 6.1 0.85 14.3
T 0 0.0 1.15 1147




2016 SO{H! JA|LEf ZALEUA - F£ | 69

QF0| Lf 2180 Q0N 7K S74=2 T

T= n HIS(%) SE RSE(%)
gl 3,952 100
Oj$ 13c 77 1.9 0.47 24.9
Jzot 590 14.9 2.16 14.5
HE 1,876 475 2.42 51
J37| ot 1,102 27.9 2.01 7.2
O A 4Tt 307 7.8 0.92 11.8
239 0 0.0 0.82 822
QUECHs L20| A= Lt
= n HIE(%) SE RSE(%)
2% 3,952 100
0§ 2t 95 2.4 0.34 14.0
et 557 14.1 1.14 8.1
HE 1,099 27.8 1.77 6.4
it 557 39.4 2.09 53
04 12| Qict 643 16.3 2.36 14.5
53 0 0.0 1.09 109.4
QIO LY 01| AHO|AL E712 €| O M2 2 2Tt
=2 n HI(%) SE RSE(%)
SHA 3,952 100
Oj Jc 222 56 1.55 27.7
JzCo 909 23.0 1.39 6.0
HE 1,783 45.] 2.07 46
132 et 886 224 1.70 7.6
0§ JZRA| Qict 152 38 0.52 13.6
T 1 0.0 0.71 70.8




70 | £5 - 2016 S04 S| 2AtE A

Al L2 7110] AL= A2 OFF = Gl

T= n B (%) SE RSE(%)
gl 3,952 100
O 2t 23 0.6 0.19 32.1
Jzot 133 34 0.59 17.8
HE 871 22.0 1.98 9.0
J37| ot 1,983 50.2 231 46
0§ 13| Ot 940 238 2.95 12.4
2t 2 0.1 0.07 73.1
PE YOIE CF & 4 QUCHE AHIZO0| UCH
= n HI2(%) SE RSE(%)
3 3,952 100
Oj JC} 190 48 1.55 323
et 758 19.2 2.19 11.4
HE 1,776 449 2.33 52
IR 94Tt 991 25.1 1.78 7.1
O 17| Ot 233 59 0.62 10.5
2sY 3 0.1 0.07 69.9
L= GIAHO| AZ0]| EESHCE
=2 n H2(%) SE RSE(%)
SHA 3,952 100
Oj Jc 171 43 0.71 16.6
130 1,315 333 3.10 9.6
HE 1,666 422 2.28 54
37 o4t 663 16.8 1.75 10.4
0§ 17| et 135 3.4 0.52 15.2
T 3 0.1 0.31 306.5




2016 SO{HQ SAEE] ZME A - 22 | 71

L= & @50t HOICH
= n H2(%) SE RSE(%)
gl 3,952 100
Oj$ 13c 144 36 0.94 26.1
Jzot 883 223 1.61 7.2
HE 2,031 514 1.85 3.6
J37| ot 799 20.2 1.78 8.8
0§ 17| otk 95 2.4 0.33 13.6
239 0 0.0 0.14 138.0
Lt 227 AAe m7t ict
T= n B (%) SE RSE(%)
3 3,952 100
Oj JC} 102 2.6 0.32 12.3
Jzot 1,047 265 2.51 95
HE 1,192 302 2.20 7.3
IR 94Tt 1,331 337 0.31 8.5
O 17| Ot 279 7.1 0.96 13.7
fent 2 0.0 0.07 77.4
A7 EHA|1 7| 20| QL
=2 n H2(%) SE RSE(%)
SHA 3,952 100
0 1t 73 18 0.30 16.6
JzCo 348 8.8 0.81 92
HE 1,154 292 257 8.8
O] o4t 1,768 44.7 2.81 6.3
O 127 94t 608 15.4 2.28 14.8
T 1 0.0 0.10 104.0




72 | £5 - 2016 S04 S|} ZAE A

= n HIE(%) SE RSE(%)
& 3,952 100
0j J=Ct 70 1.8 0.31 17.3
JZct 274 6.9 0.68 9.8
HE 879 22.2 1.92 8.6
JZR) ot 1,842 46.6 2.05 44
OH IR Lt 887 22.4 2.69 12.0
e = ] 0.0 0.1 107.9
Lt 0| CHsl0} 2425 ek
= n HIE(%) SE RSE(%)
SHY| 3,952 100
0j J=HCt 415 10.5 1.26 12.0
I} 1,321 334 3.17 9.5
HE 1,435 36.3 2.10 58
eV 676 17.1 3.44 20.0
0§ JZR| it 103 2.6 0.48 18.6
e 1 0.0 0.07 78.3
Lip512] Q4AI2t DRS0| AfZ! 7} St
712 n HIE(%) SE RSE (%)
SHY| 3,952 100
0f JZC} 108 2.7 0.19 7.1
=0 916 23.2 2.07 98
HE 1,450 36.7 3.44 9.4
mEp(R 1,203 30.4 2.10 6.9
0 JFR| ot 275 7.0 1.53 21.8




olo] E7

Hu=

e ZAEIA - HE | 73

n H2(%) SE RSE(%)
3,952 100
Oj$ 13c 110 28 0.55 19.6
Jzot 690 175 1.59 9.1
HE 1,860 47.1 221 47
J37| ot 1,088 275 2.06 7.5
REY] 203 51 1.33 26.1
2t 2 0.0 0.08 88.1
n HIZ (%) SE RSE(%)
3,952 100
Oj JC} 82 2.1 0.34 16.2
I3t 331 8.4 1.05 12.5
HE 1,000 253 3.06 12.1
IR 94Tt 1,640 415 2.70 65
0§ 17| et 894 22.6 2.89 12.8
53 5 0.1 0.71 712




74 | £5 - 2016 50U S|} 2AE A

1420 LOIE| M| A CH3H OIAl

—_ ="

LOIZRMHIA QIR - X[IZA/ A B 2IH| A2

T= n B (%) SE RSE(%)
2L 1,467 100
LD US 301 20.5 2.40 11.7
SHEAHUS 590 40.2 2.81 7.3
a1 576 392 2.55 6.5
QIS AIAH|A O Z3 - X|Of AR/ 2 22| A HAY

T= n B (%) SE RSE(%)

A 891 100
08 g3 310 348 3.96 11.4
HIEeS 581 652 3.98 6.1




4Ol RAHIA

2359 018 U= - 2HH/ A 222 H| ARMY

2016 50{H0! =7

| ZAEIN - HE | 75

—
n

= BHE) SE RSE(%)

2% 306 658 2.19 33

5 = 45 64.3 419 285

EE o 262 66.0 248 29

atte = =047} 136 64.5 2.24 50

H=0{7t 170 668 3.60 65
30cH Ofat 17 66.4 9.83 176.9
40rH 12 65.7 14.85 378.7
SEA Y 50CH 16 64.6 10.02 191.6
60cH 101 61.9 5.44 16.5

70CH OfAf 160 68.3 1.39 2.7

27 49 575 9.79 61.1

2 8 71.6 11.01 4211

28 26 68.6 410 483

24 41 69.6 3.90 29.1

Pl Mg 52 58.3 2.08 12.2
Mt 27 68.2 2.73 30.9

Ae 19 69.5 4.10 66.0

i) 85 70.3 3.63 13.1

HF 0 625 0 0
CQIERIAH|A S0 018 B - 2|THARY/Z| S22 ]| A ALY
S n HIE(%) SE RSE(%)
2% 306 100

Of< B 36 118 3.47 29.4
O EE 125 40.8 6.24 15.3
HE 141 46.0 6.90 15.0
A 20HZ 4 1.4 0.81 58.2




76 | £5 - 2016 S0{Y! S| 2AE A

QIS AIAIA QIR — Q1 U 0t RIS

= n HIE(%) SE RSE(%)
2% 1,465 100
2ongle 137 94 1.88 20.0
SH= A US 331 22.6 2.71 12.0
2= 997 68.0 2.86 42
OIS ZIAH|A O ZE - QRAR L JHRrpa 2IRIAIY
= n HIE(%) SE RSE(%)
2%l 468 100
08 433 65 13.8 3.88 28.1
H|ges 403 86.2 3.87 45
TOIEAIMHIA 20| 08 THEL - OHA- 2 JHOtE XA
= n BrE SE RSE(%)
2%l 65 62.7 4.60 7.3
o0 o El 8 63.0 9.58 778
i o 57 62.7 5.1 59
ot oj S0t 35 67.4 5.53 10.3
HIS 017} 30 57.3 6.47 14.0
30cH ofat i 64.0 18.19 107.5
40rH 3 94.1 20.09 4353
SEA A 50CH 7 61.3 8.07 74.9
60rH 19 53.6 8.11 27.7
70CH 0% 24 66.0 3.94 10.7
47| 19 50.0 2.13 7.3
P 0 0 0 0
Ea 20 75.0 6.79 22.1
3 5 63.2 12.29 1598
A4 HE 1 100.0 0 0
e 3 73.1 2.54 55.0
45 2 54.9 13.10 4258
a4 14 60.1 11.25 522
HF 1 578 9.32 605.8




2016 0{%2! 24

B ZMEIN - 25 | 77

OIS AIAH|A ZAZO| 018 BHEE - QM L Ok 2N
= n B (%) SE RSE(%)
2L 65 100
iT=Ye=3 6 99 6.40 64.6
ChA OHZ 23 35.1 15.91 452
BE 34 53.0 16.48 31.1
iT=RCle=3 1 2.0 1.78 89.1
OIEAIMHIA Q1| - 97| (EL) XA
T= n B (%) SE RSE(%)
2Ll 1,464 100
ZAngle 380 26.0 3.04 1.7
SHEAHUS 553 37.8 2.91 7.7
mE] 531 36.3 2.96 8.2
LQISANHIA 018 B3 - QJR|(EL) A[#AY
=2 n H2(%) SE RSE(%)
A 933 100
olg #ez 103 1.0 1.48 13.3
HIZES 830 89.0 1.42 1.6




78 | £5 - 2016 504! S|} ZAtE A

QIS AIAHIA 2850 018 DIZE - OfX/(SL) AN

[ S|

= n TE) SE RSE(%)
=] 103 69.3 6.03 87
R g 35 53.8 1492 43.9
EE o 68 77.2 426 65
T
= . . .
3004 O[3 7 100.0 0 0
40T} 12 65.3 22.14 190.0
SHEA HE 50CH 5 60.8 26.07 537.0
60t 15 63.6 8.87 60.9
700H OJAr 64 68.7 403 65
27| 3] 489 1527 50.7
%9l 3 58.9 1558 5349
24 1 83.2 662 62.0
= 17 80.3 1450 87.9
201 Mz ] 100.0 0 0
it 20 80.2 353 18.2
7 5 52.1 9.19 189.3
At 12 84.9 599 51.4
7S 2 65.0 1228 632.4
LRIEAIMH|A ZRZ0| 018 BEL - OJ2|(EL) AIRAIY
o : = S RSE(%)
31 103 100
oo o= 3] 30.2 7.82 25.9
ChA OIR 37 35.9 6.96 19.4
HE 21 209 537 25.7
CHA £012 7 70 316 451
oo gopz 6 60 553 92.2




=9I 2|AHA QA - 9% | 20

2016 50{H0! =7

e ZAEIA - HE | 79

T2 n HIE(%) SE RSE(%)
2% 1,464 100
2ongle 329 225 3.08 13.7
SN2 AUS 544 372 2.23 6.3
= 591 403 2.58 6.4
TOIBZIAH|A O ZY - L0177 |QY Y
T2 n HIE(%) SE RSE(%)
2%l 874 100
08 433 45 5.2 0.99 19.5
H|ges 829 94.8 0.95 1.1
TOIEAIMHIA 20| 08 PEL - 017 |QYHS
= n ) SE RSE(%)
2%l 45 80.4 3.76 4.7
° = 8 73.0 5.51 31.0
st o 37 8.1 430 52
ot 42 S0t 20 85.0 6.94 156
HIS 017} 25 768 2.81 51
30tH
40rH 13 89.2 9.07 31.4
SEA A 50CH 5 81.4 9.58 86.2
60rH 5 64.9 8.11 73.0
70CH 04 23 78.9 3.27 6.4
47| 3 64.7 1613 242.0
P 3 89.9 8.60 129.0
24 7 83.9 9.89 63.6
3 2 83.6 22.01 4952
A% = 9 94.6 8.09 40.5
= 13 692 2.85 9.9
45 3 70.6 13.64 204.6
4 5 84.9 6.62 59.6
_7|L_

=




80 | 75 - 2016 S0{HI SAIZE) ZAEIA

QISAIAH|A ZAZO| 018 BHEE - LOIY7| QYUY
= n B (%) SE RSE(%)
2L 45 100
O 2 18 39.9 11.89 29.8
ChA OHZ 20 433 10.82 25.0
HE 7 15.3 511 334
CiA S0 1 1.5 0.94 62.8
QISAIAHIA Q1| - LOISE T2AH|A
T= n B (%) SE RSE(%)
A 1,465 100
ZAngle 271 185 2.55 138
SHEAHUS 529 36.1 2.38 6.6
mE] 665 45.4 2.86 6.3
LQISANHIA 018 B3 - LIS 7| 2AH|A
=2 n H2(%) SE RSE(%)
A 800 100
08 g3 74 92 1.41 15.6
HIZES 727 90.8 1.45 1.6




2016 SO{HO! JA|LEf ZALEUA - ££ | 81

=QIBAH|A ZBE0| 0/8 BIEE - OIS TjRAHIA
n

= BHE) SE RSE(%)
2% 74 68.3 2.50 3.7
o ] 17 65.3 491 214
EE o 56 69.2 2.74 36
C3
R
5 . . .
30CH O[5 - - . ]
40rH 14 662 7.46 39.4
SEA Y 50CH 1 72.0 22.22 1644.3
60cH 7 60.9 6.92 732
70CH OfAf 52 69.7 2.78 40
27 3 50.0 19.47 480.3
2 652 11.52 2841.6
28 53.3 21.85 539
24 13 722 2.86 16.3
Pl e 23 67.6 6.21 20
Mt 17 69.7 3.24 14.1
A2 4 628 3.65 675
=t 9 73.3 12.32 101.3
pi=s 2 73.1 591 218.7
CQIERIAH|A ZRZ0| 018 BHEE - (LOISE 7[2AH|A
S n HIE(%) SE RSE(%)
2% 74 100
0 opz 8 1.6 3.63 316
CiA OKR 40 54.1 8.0 14.9
HE 22 30.3 7.97 26.3
CjA E0KR 3 41 2.07 50.5




82 | £5 - 2016 01O ZAME} ZAtE A

EQIEANME|A QA - eOIEE SEMHIAENRA)

= n HIE(%) SE RSE(%)
2% 1,465 100
FAUUS 290 198 2.59 13.1
SN2 AUS 577 39.4 2.32 5.9
= 599 408 2.77 68
TOIEAIMHIA 01 28 - LLOIEE SSAMHIAHIRA)
= n HIZ(%) SE RSE (%)
A 867 100
08 433 74 8.1 1.22 15.1
HES 796 91.9 1.19 1.3
TOIEAIMHIA 30| 08 PEL - OIS E SHUMHIAHIRA)
= n ) SE RSE(%)
2%l 71 68.4 2.51 3.7
o g 23 66.1 4.07 12.6
st o 47 69.5 333 50
ot oj S0t 17 72.5 6.38 26.7
His017t 53 67.1 2.64 35
30CH Of3 - ]
40K 12 764 7.92 46.9
SEA A 50CH 3 60.1 35.14 831.7
60rH 10 64.3 461 32.7
70CH 04 46 67.8 3.03 4.7
47| 12 57.6 3.19 18.9
ZH 2 71.4 12.08 428.8
Ea 8 77.1 11.34 100.6
3 9 72.1 9.64 76.1
Pl HE 6 783 11.62 137.5
= 16 673 3.96 17.6
45 4 63.5 5.82 103.3
a4 13 66.5 9.84 53.7
A= 2 76.4 9.71 344.7




2016 50101 SAAE) ZAHTA - 2 | 83

QISAIAH|A ZAZO 0|8 BEL - (OIS SBIAHIAHIRA)
S n HI2(%) SE RSE(%)
2L 71 100
OjQ Or2 12 17.1 5.40 31.6
ChA OHZ 32 45.0 6.70 14.9
HE 23 323 8.49 26.3
CiA 202 4 56 2.83 50.5
LOIEAMHIA QIR — LLQIALZICIARY
= n B (%) SE RSE(%)
3 1,465 100
ZAngle 266 182 2.42 13.3
SHEAHUS 325 222 2.64 11.9
22 874 59.6 2.62 44
LQIEANHIA O B3 - LLQIZAZRITA
=2 n H2(%) SE RSE(%)
SHA 591 100
018 a3 270 457 4.71 10.3
HIZES 321 543 4.72 8.7




84 | 22016 50/ SAIME) ZAE N

OIEAIMHIA FRiZ9| 08 TEL - LOIHZRITAIY
- n AR SE RSE(%)
A 270 70.8 2.99 42
= 63 76.6 3.92 16.8
Sl & 207 69.1 3.65 4.8
e S07t 117 70.8 3.10 72
His 07t 153 70.9 4.79 8.5
30cH Ofat 10 67.1 37.66 1016.8
40K 17 77.0 11.00 1747
SHEA HE 50CH 20 778 6.71 90.6
60tH 81 66.5 8.63 28.8
70CH OfA 142 71.9 1.77 3.4
47| 111 69.1 6.77 16.5
g 9 87.5 6.25 1875
35 24 67.3 10.92 1229
3 20 68.1 5.27 71.2
A% = 3 70.8 25.38 2284.2
e 9 56.1 10.57 317.1
4= 8 71.6 3.47 117.1
o 86 74.4 2.85 9.0
A= 2 69.8 6.24 842.4
QIEAIMH|A 39| 08 TEE - rQIHZRUTAIY
= n HIZ(%) SE RSE(%)
2% 270 100
Oj 2= 62 23.0 4.62 20.1
CiA OFZ 107 39.4 8.39 21.3
HE 9 35.4 9.49 26.8
Cha 20 6 2.2 1.02 46.4




LOIERIMH|A QIA|E — 7HYRIR IO ALY

[

2016 0{%2! 24

e ZAEIN - HE | 85

= n HIE(%) SE RSE(%)
2% 1,466 100
2ongle 175 11.9 1.92 16.0
SN2 AUS 475 324 291 9.0
[nl=t 816 55.7 2.83 51
TOI=AIMHIA 01 28 - 7L oA
= n HIE(%) SE RSE(%)
A 650 100
08 433 64 98 1.81 18.3
H|ges 586 90.2 1.71 1.9
TOIEAIMHIA FZ0| 08 DEL - THEY oA
= n ) SE RSE(%)
2%l 64 70.7 2.81 40
oo i =) 13 731 513 25.3
i o 51 70.0 3.40 43
ot oj S0t 36 67.9 4.80 8.5
HIS 017} 28 743 2.18 50
30CH O[5t
40K 12 63.2 14.14 75.4
SEA A 50CH 6 70.8 16.88 180.1
60rH 7 72.0 2.49 22.8
70CH 04 39 72.6 2.00 3.3
47| 2 69.8 24.77 792.6
ZH 4 84.3 7.00 112.0
Ea 6 80.4 13.09 139.6
3 6 79.1 3.71 39.6
A% = 5 533 46.73 598.1
= 29 66.0 2.06 4.6
45 2 61.2 6.30 201.6
a4 8 76.9 12.05 96.4
A= 1 90.9 12.05 771.2




86 | F5 - 2016 S0{HI SA/ZE] ZAEIA

QISAIAH|A ZAZO| 018 PR - TS AIY
= n B (%) SE RSE(%)
2L 64 100
OjQ Or2 12 19.1 592 31.0
ChA OHZ 29 45.0 7.60 16.9
HE 23 354 7.54 213
CiA 202 0 05 0.55 10.7
QIS RIAH|A Q1| - PHYEIRBS RS IAY
= n B (%) SE RSE(%)
3 A64 100
ZAngle 103 7.0 1.86 258
SHEAHUS 130 8.9 1.42 15.9
mE] 232 84.1 2.19 2.6
LQISANHIA 018 Z3 - THYE[ SISk AIY
=2 n H2(%) SE RSE(%)
2%l 232 100
08 g3 41 17.9 5.80 32.4
HIZES 191 82.1 5.82 7.1




2016 S0{HQ A ZAE A - 72 | 87

= [ LotHoo2
- n AR SE RSE(%)
2% 41 83.0 4.25 5.1
= 20 85.0 10.40 21.3
Sl & 21 81.1 4.95 9.7
C3
e R R
5 . . .
30CH O[3} - - . ]
40K 2 100.0 0 0
SHEA HE 50CH 3 81.4 14.42 197.1
60tH 6 78.4 11.71 80.0
70cH Of4 31 82.7 5.76 7.6
47| 31 82.8 5.77 7.6
P 5 89.8 10.52 86.3
35 2 100.0 0 0
3 1 75.0 0 0
| M 1 100.0 0 0
e - - -
4= 1 55.3 12.52 5133
=t 1 43.0 43,57 1786.
A=
OIEAMH|A 39| 08 TEE - THEREASAEIAY
= n HIZ(%) SE RSE(%)
2% 41 100
Of< B 25 59.8 7.95 133
Cha DEZ 7 17.7 7.64 432
HE 8 19.9 7.74 38.9
ChA S00% 1 2.6 2.83 108.9




88 | 75 - 2016 S0{HQI SA/ZE] ZAHIA

1427295t LOI=AAH[A

OB L= AIAH| A

TE n HIE(%) SE RSE(%)
2L 1,460 100
20 |A 321 22.0 2.82 12.8
AHR|2AH[A 341 23.4 2.08 8.9
7IHEAAH|A 119 8.2 1.38 16.9
HID J17HS e ZREMH|A 95 65 0.91 14,1
Z/0RZE HEMH|A 12 08 0.24 30.0
wEH A 110 7.6 0.94 12.4
QIR A E ASAIH 198 13.6 1.77 13.0
QIO FER|AfH| A 64 44 0.92 208
E55| Wt MHIATGIE 198 13.5 1.73 12.8




2016 S0{YQ S ZAEH A - 72 | 89

T n HEZ(%) SE RSE(%)
2L 426 100

AR 27| L WEHOIEE 2|/ 45 10.5 3.05 29.0
O|ZAHZhAH|A 65 153 3.78 24.7

7 FARR IR A 34 7.9 1.62 20.5

O SHOJA[IAH|A 32 74 2.58 34.9
TIEATE L HRAEAE|IA 9 2.2 0.84 38.3
2ASH, HRAWM S AR AMH|A 26 6.2 1.97 318
ZOHAHS BRI A A 5 1.1 0.67 60.5
HOHQ ISR M| A 26 62 2.11 34.0
Ho2lre SN 5 BAA Al 184 431 5.04 1.7




90 | ££ - 2016 SOIYQ SA/AE AN

1423 Z2A14 O[E 2

SN 0lR 84

T= n B (%) SE RSE(%)
2L 3,947 100
213/ 0/gt 211 53 1.00 18.9
21.23] 109 28 0.48 17.7
2 3-43] 130 33 0.66 19.9
2 53] 04 380 9.6 1.53 15.9
0|8 ZY ois 3,117 79.0 1.98 25
EAAS OlFA| £2 0185k wEH
T= n B (%) SE RSE(%)
A 821 100
Z0IA 528 64.4 521 8.1
HEns 98 12.0 2.69 22.4
e 165 20.1 3.84 19.2
7|Et 30 3.6 0.99 27.6
E2IAE OSA| HE AQAIZH
=2 n HI(%) SE RSE(%)
A 807 100
5z ot 82 10.2 1.53 15.0
510 o[t 235 29.1 3.46 1.9
10-202 0|2t 289 358 4.62 12.9
20-30% 02t 135 16.7 321 19.2
30 oAt 66 8.2 1.89 238




2016 SO{HQ A ZME A - 22 | 91

22|A 0[8 DIEE

=

- n ) SE RSE(%)
2% 815 712 2.42 3.4
o = 208 69.6 2.47 9.7
EE o 607 717 35 44
i 0 Hh,;-om 382 69.0 1.82 3.9
I5017+ 433 73.1 3.91 7.4
30t of5t 94 72.9 401 35.6
40K 144 77.7 10.48 59.3
SHEA HE 50CH 118 66.6 3.30 22.8
60tH 154 66.7 2.29 12.1
70CH OfA 305 71.6 1.33 3.6
27| 176 762 9.97 462
Z 57 71.0 3.64 52.1
22 43 76.0 1.49 28.2
E1=| 74 70.4 3.17 34.9
Pl Mg 69 72.9 4.32 51.0
A 135 74.6 3.41 20.6
ze 56 62.2 5.46 795
=t 188 63.7 3.37 14.6
HF 16 90.0 3.80 193.6
SAAME 08 BEE
8 n HIE(%) SE RSE(%)
2% 815 100
Of< B 180 22.0 5.65 25.7
Cha BEZ 372 45.6 4.01 8.8
HE 229 28.0 3.74 13.3
ChA 2012 29 36 1.08 30.1
o> =25 6 0.7 0.38 54.5




92 | ££ - 2016 SOIYQ SA/AE] AN

SANEH[OIE 0%

TE n HIE(%) SE RSE (%)
gl 3,099 100

018 4= U= AIHO| it 765 24.7 3.53 14.3
Al20| A=A S 399 12.8 2.78 21.7
HfitA] 1,318 42,5 2.42 5.7

=0| 9ic} 62 2.0 0.51 254
ULEA/HEEH 68 2.2 0.36 16.3
Hel/uE 2 34 1.1 0.49 44.4
CIFCH7 | 2] 240RA 154 50 2.98 59.6
H8E % LA 132 43 1.4] 32.9
7E 167 54 1.02 18.8




2016 SO{H! JA|LEf ZALEUA - 5 | 93

1424 52212 94 Loy
SEAG M HRHY
TE n HIE(%) SE RSE(%)
2L 3,885 100

50001 7|24 B 1,568 403 2.66 6.6

Yl 02 22 528 13.6 1.82 13.3

2 AR HS 189 49 0.99 202

S2 U 144 3.7 1.03 27.8

FEo| B LY 90 2.3 0.48 20.9
IEHA S NEACH S 317 8.2 1.66 20.3
20 g 3L 364 9.4 1.1 1.8

SEAIY AIGH o] CHS EAf S 370 9.5 2.06 217
2 BHoE Y 285 7.3 1.00 13.7

7|t 30 0.8 0.26 37.1




